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1-12. sorularda, cümlede boş bırakılan yerlere uygun düşen kelime ya da ifadeyi koyunuz.

1- 
A dentist needs great.......... when working in someone's mouth, particularly when extracting or filling teeth.


A)
inspection 
B) roughness 


C) perception 
D) precision 


E) punctuality

2- 
English apples which ......... as late as October are a dependable winter fruit as they keep for months if stored properly.


A) bloom 
B) rot 


C) preserve 
D) ripen 


E) decay

3- 
The children will be .......... by a number of teachers and some parents on the school outing.


A) conveyed 
B) abstained 


C) regulated 
D) accompanied 


E) supplemented

4- 
Are you sure you will get........just by drinking those herbal teas, without taking any medicine?
A) so good                 
B) good
C) such well                     
D) the best
E) better
5-
I studied archaeology at university.......it was more interesting than economics, but now I can't find a job.
A) even though        
B) so that
C) since                           
D) whereas
E) even if
6- 
The English Channel is the body of  .......
separates England from France.
A) where                  
B) when
C)what                             
D) which
E) how
7- 
Some people are very choosy about their food, whereas others will eat........is put in front of them.
A) so much         
B) whatever
C) such as                      
D) rather than
E) however
8- 
If there is an express bus that we can take, we should be in Ankara by this afternoon,........?
A) isn't there       
B} can we
C) can't we                       D) is there
E) shouldn't we
9- 
Anyone who ....... the Middle East.......difficulty understanding the complexity of the situation there.
A) hadn't visited/has                     

B) hasn't visited/will have
C) doesn't visit/had                       

D) won't visit/is having
E) didn't visit/has had
10- 
As children, my sister and I.........daisies in order to make necklaces out of them. Of course, they.........very long.
A) were picking/haven't lasted         

B) ought to pick/hadn't lasted 

C) had to pick/don't last                

D) used to pick/won't last
E) would pick/didn't last
11- 
After an unhappy marriage, Maria decided to leave.......husband and live by .......
A) hers/him             
B) her own/hers
C) himself/her                  
D) her/herself
E) him/her own
12- 
The merchant had difficulty in selling the wool. The price of it had ______.


A)
gone down
B) gone back


C)
gone up
D) gone off


E) gone out

13. -17. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.
The child followed his grandmother into the garden. (13) ....... they walked slowly towards the little building in the back the child (14) ....... strange noises and suddenly stopped. The grandmother turned and laughed warmly at her grandson's (15) ....... expression. He had never been this close to animals before and was too young (16) ....... the sounds he heard. She handed him the bowl she had been carrying in her hand and picked him up. In the 

(17) ....... of her arms he relaxed and together, they entered the coop to feed the chickens.

13-


A)
As
B)
Because


C)
For
D)
When


E)
As soon as

14-


A)
hears
B)
heard


C)
has heard
D)
will hear


E)
will have heard

15-


A)
frightening
B)
frightened


C)
frightful
D)
fright


E)
afraid

16-


A)
to recognise
B)
recognising


C)
having recognised
D)
to have recognised


E)
to be recognised

17-


A)
save
B)
safe


C)
safely
D)
safety


E)
saving
18 – 22. sorularda, yarım bırakılan cümleyi uygun şekilde tamamlayan ifadeyi bulunuz.

18. 
It's taking her so long to write this book that _______.
A)
she spent all the money she had been saving up for a long time
B)
by the time she's finished it, people will have forgotten the incident it's based on
C)
she could have written a better novel if she wanted
D)
she has written another one as interesting as that one
E)
nobody would have bought it when she finished it
19. 
When I was at university, .......
A)
I would sometimes work all night to finish the assignments 

B) 
I may not concentrate on the lessons all the time
C) 
our teacher has always given us a lot of     homework
D) 
I will get used to getting up early 

E) 
I might call my parents every weekend
20.
.......but I never get the time nowadays.
A) 
I used to love cooking 

B) 
my mother would punish us when we didn't obey her rules
C) 
I have been wishing to become a lawyer since my childhood
D) 
I hope I will get accustomed to getting up early 
soon
E)  
I had always gone to work on foot
21.
The new American administration is still hesitating about______.
A)  why so many new taxes had been imposed
B)   who would have presided over the Senate
C) 
how the problem of famine in Asia had been overcome
D)  whether to increase expenditure on education
E)  
which programme had been approved by the committee
22.
_____how long it would take us to walk to the centre of town.
A)  Contrary to what we all expected
B)   He simply wanted to know
C)  Our parents are exceedingly upset
D)  No one has ever attempted
E)   The decision was final
23. — 24. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

23-
Because he’s always grinning in class.


A)
Why is John so happy?


B)
Why doesn’t John love his teacher?


C)
Why is the teacher angry with John?


D)
What is the reason of the teacher’s anxiety?


E)
What has caused John to be so happy in class?

24-
Yes, next month Sue will be doing it instead.


A)
You are going shopping only this month, aren’t you?


B)
Who is doing your job next month?


C)
Did Sue agree with the decision you made?


D)
When will sue do the homework?


E)
Will she be doing the house work next month?

25-26. sorularda, verilen İngilizce cümlenin Türkçe 

dengini bulunuz.

25-
There is usually no need for medical treatment to cure the common cold.

A)
Soğuk algınlığı tıbbi tedavi uygulamadan da 

     iyileştirilebilir.

B)
Soğuk algınlığına yakalananlar genel​likle tıbbi 

      tedaviye başvurmazlar.

C)
Genel olarak, soğuk algınlığının iyileşmesi için


tıbbi tedaviye ihtiyaç yoktur.

D)
Soğuk algınlığını geçirecek bir tıbbi tedavi 

      henüz bulunamamıştır.

E)
Soğuk algınlığının iyileşmesi için çoğu zaman 

      tıbbi tedaviye gerek yoktur.

26-
Many people remain indifferent even to those social problems that concern themselves closely.

A)
Bazı insanlar kendi sorunlarıyla ilgilenirken 

      toplumsal sorunlardan uzaklaşmaktadır.

B)
Birçok insan, kendisini ve yakınlarını 

      ilgilendiren sorunları toplumsal sorun​lardan 

      daha önemli saymaktadır.

C)
Sosyal sorunlar toplumun farklı kesimlerini 

      farklı şekillerde etkilemektedir.

D)
Pek çok insan kendisini yakından ilgilendiren 

      toplumsal sorunlara karşı bile kayıtsız 

      kalmaktadır.

E)
Bazı insanlar sosyal konulardan o kadar uzak ki 

      tüm toplumu saran sorunlar bile onların hiç 

      ilgisini çekmiyor.

27-28. sorularda, verilen Türkçe cümlenin İngilizce 

dengini bulunuz.

27. 
Perdeler iner inmez seyirciler koltuklarından fırladılar.


A)
No sooner had the curtains fallen than the

audience jumped up from their seats.
B)
The curtains had fallen when the audience 



jumped up from their seats.


C)
As soon as the audience had jumped up from



their seats, the curtains fell.


D)
Not only had the curtains fallen but also the



audience jumped up from their seats.


E)
The audience jumped up from their seats



when the curtains had fallen.

28. 
Genç kadın bir hayli çaba gösterdi fakat yeterli olmadı.

A) 
The young woman had to do quite an effort, but she didn't try enough.

B) 
When the young woman made effort, she couldn't try enough.

C) 
The young woman made quite an effort, but it wasn't good enough.

D) 
Though the young woman made an effort, she was not good enough.

E) 
The effort that the young woman made was not good enough.

29-31.  soruları verilen parçaya göre cevaplayınız.

By the end of his time in the prison hospital, Ernest knew that he wanted to become a tailor. He talked with the prison officer, who told him there was no reason why he should not be able to do so by the time he came out of prison, providing that he learnt the trade during the remainder of his term. The doctor said he was strong enough, and it was about the only thing he was fit for. Consequently, Ernest left the hospital sooner than he had thought and began his training, extremely pleased at the idea of making his own living again and confident of rising in the profession.
29-   The prison officer .......
A)  
said that there was no reason why Ernest should leave hospital
B)  told Ernest to do the job training when he got out 
of prison
C)  didn't consider Ernest capable of becoming a tailor
D)  found Ernest's decision to become a tailor quite 
reasonable
E)  
encouraged Ernest to become a tailor so that he 
wouldn't waste his time in prison
30-   It's obvious from the passage that Ernest .......
A) 
had to be fit and strong in order to start training
B)  
decided to become a tailor while he was in the 
prison hospital
C)  had dreamt of becoming a tailor all his life
D)  would have to wait until he was set free to put 
his idea into practice
E)  
started his job training as soon as he left the 
prison
31-   
According to the doctor, .......
A) 
Ernest shouldn't waste any more time in the 
hospital if he wanted to start his job training
B)  
would have to postpone his plan until he recovered
C) 
Ernest needed to be stronger and fitter to start 
any job training
D)  there were hardly any jobs suitable for Ernest 
other than making clothes
E)  
the time Ernest would spend in the prison would 
be long enough for him to acquire new skills

32-34.  soruları verilen parçaya göre cevaplayınız.

The contemporary system of industrialized clothing production did not exist before the mid-19th century. Although important advances in the mechanization of spinning and weaving had occurred earlier, clothes making continued to be a hand skill. Except for the introduction of metal needles in the Middle Ages, no new technology had been successfully utilized until Isaac M. Singer designed a sewing machine in 1851. By the end of the 19th century, the basic conditions and technologies for the creation of a giant clothing industry were present.
32-   
The passage points out that clothing production .......
A)    still requires hand skill
B)    started with Isaac M. Singer
C)  became much easier after the introduction of 

metal needles
D)  was mechanized later than spinning and 


weaving
E)  
has not seen any significant changes since the 

Middle Ages
33-  
It's stated in the passage that between the Middle Ages and the mid-19th century...................
A)  
no changes were made in clothing styles
B)  
there were no successful clothes makers
C)  there weren't any technological advances in 

clothing production
D)  Isaac Singer was the most remarkable clothes designer
E) 
the technology which is still used in the clothing 

industry was developed
34-   In the passage, it is implied that .......
A)  
until recently, the only luxury clothes makers had was the sewing machine
B)  
the advances in clothing production exceeded 
those in spinning and weaving
C)  the way clothes are made now is basically the 
same as the way they were made 200 years ago
D)  Isaac Singer was the person who made the 
most effective use of the sewing machine
E)  
the foundations for the current clothing industry were set in the latter part of the 19th century
35-37.  soruları verilen parçaya göre cevaplayınız.

Capable of inhabiting most of the waters of the world, sharks appear to dominate the depths. Swimmers, water skiers, snorkelers, scuba divers, and spear fishermen in ever-increasing numbers have recently invaded their habitats, and sharks have responded to the intrusion with predictable reflex reactions — they have attacked. The resultant notoriety has given sharks a bad reputation. The mass media have embellished the image until the word shark has come to make most people react in horror. This dread of sharks is not reinforced by the facts. Of the 100 or so unprovoked attacks that occur worldwide every year, less than 35 are fatal.
35-   
According to the author, shark attacks .......
A)  
are less predictable in deep water
B)  
do not exceed one-hundred worldwide annually
C)  are not as infrequent as the statistics suggest
D)  are a natural consequence of man's invading their habitats
E)  
are caused by the animal's instinct to dominate the depths
36-   
The author blames the mass media .......
A) 
for not stressing just how dangerous the shark 
really is
B)  
for most people's intense fear of the shark
C)  for exaggerating man's intrusion into the shark's 
habitats                 
D) 
for trying to justify shark attacks on human 
beings without considering the facts
E)  
for publishing embellished stories in order to 
show the shark as a pretty creature
37-   The author believes that .......
A) 
the facts about the shark contradict its existent 
image
B)  
sharks don’t attack people if they are not 
disturbed
C)  people are justified in their fear of the shark
D)  sharks' reactions to human beings are not 
predictable
E)  
human beings are to be blamed for one-third of 
the 100 annual shark attacks
38-40.  soruları verilen parçaya göre cevaplayınız.

Paper-making technology improved rapidly throughout the 19th century. The introduction of chlorine for bleaching meant that white paper could now be manufactured from coloured linen and cotton rags, thus increasing the range of available raw materials. Even so, as the century progressed, the demand for paper increased dramatically, and other sources were sought. Esparto grass from Spain and North Africa became a valued commodity for paper-making. Only when it was realized that wood pulp could be used as a source, however, did large scale paper manufacture become possible.
38-   
We can infer from the passage that before bleaching was discovered, .......
A)  
people had no idea how to make white paper
B)  
people could only make white paper from white 

raw material
C)  all the paper produced was rough and dark
D)  the raw materials then available were not 


enough to meet people's demand for paper
E)  
people used chlorine to whiten coloured 


materials
39-   
After the introduction of wood pulp as a source, .......
A)  
there was large scale destruction of forests
B)  
the paper industry stopped looking for new 


sources of raw material
C)  paper-making technology began to improve
D)  Esparto grass totally lost its value in paper-


making
E)  
man was able to produce paper in huge 


amounts
40-   
We can conclude from the passage that bleaching .......
A)  
is the process of changing the colour of a 


material into a different shade
B)  
required people to use only coloured linen and cotton rags
C)  makes it possible to produce white paper from 

coloured raw materials
D)  was the only method man had for producing 

white paper
E)  
noticeably increased the demand for paper in 

the 19th century
41-42. sorularda, verilen cümleye anlamca en yakın seçeneği bulunuz.

41-   
As we moved further into the cave, my fear of the darkness intensified.
A) 
The deeper we walked into the cave, the more frightened I became of the dark.
B) 
While walking around the cave, I suddenly        became  intensely frightened of the dark.
C) 
The darkness in the cave was so intense that I 
couldn't help but feel scared.
D) 
As soon as we stepped into the cave, I was overwhelmed by my fear of the dark.
E) 
My fear of the dark had never been so great as when we were in  the depths of the cave.
42. 
The car in the window is really very cheap though it doesn't seem so.

A) 
The car in the window isn't so dear as you think so. 

B) 
The car in the window isn't as cheap as it looks. 

C) 
The car in the window is cheaper than it looks.

D) 
They have priced the car in the window as little as possible.

E) 
As the car in the window looks shabby, it's cheaper than common estimates.

43 -44. sorularda, parçada bırakılan boşluğu uygun şekilde tamamlayan ifadeyi bulunuz.

43- 
The Caspian is the largest inland sea, or salt lake, in the world. The North Caspian and the South Caspian are very different. The north freezes from September to March........ The South, on the other hand, has abundant, almost

tropical vegetation and a bustling sugar-cane 


industry.
A)  
The Caspian is an important source of caviar
B)  
Salt lakes have no outlet, thus evaporation causes a concentration of salts
C)  
Another well-known salt lake is located in Utah, 
in the western United States
D)  
Vegetation is sparse, and marshlands rule out 
any serious agriculture
E)  
Its southern shore is the northern fringe of the 
Middle East
44- 
Radio-carbon dating is a method of assessing the age of dead organic matter from the proportion of carbon-14 isotope it contains. ......... . When the plant or animal dies, the isotope begins to disintegrate, or decay. By measuring the extent of this decay, in relation to the known rate of carbon-14 decay, it is possible to asses with accuracy the amount of time that has passed since the plant or animal died.
A)  
This radioactive isotope is created quite naturally by cosmic rays in living matter
B)  
The universe is now thought to be much older than was once believed
C)  
Some objects contain no plant or animal matter
D)  
This method is not so reliable for objects which are known to be more than 20,000 years old
E)  
Fundamentalist Christians, who believe that the world was created 4700 years ago, oppose use of this method
45-46. sorularda verilen durumda söylenebilecek sözü bulunuz.

45-   
You have made plans to go to see a play with a friend, but, sadly, your sister has had to be taken to hospital with appendicitis and you will visit her instead. To cancel your engagement, you telephone your friend and say apologetically:

A) 
My sister has had to go into hospital for an operation, so I will be using her ticket to the play.

B)  
I am going to visit my sister in hospital before I come to the play so I will meet you there.

C) 
Can we go and see this play another day as tonight I feel obliged to visit my sister?

D) 
I would have loved to accept your invitation to the play if my sister hadn't been taken ill suddenly.                                              

E) 
I'm afraid I won't be able to make it to the play on account of my sister's sudden illness.             

46-  
You have applied for a job as a salesman for a mobile telephone company. In your interview you are asked to summarise your strong points for such a job. You answer confidently:               

A) 
In this job I would be able to use both my technical and public speaking abilities.

B) 
I don't want to do manual labour and want to wear a suit when I am working.

C) 
Since graduating with a degree to fine arts, I have been unable to find a job.

D) 
I am compassionate and enjoy working with the underprivileged.

E) 
Well, to be honest, I have never done this sort of thing before.

47-48. sorularda, karşılıklı konuşmanın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

47- 
Chris
: We're going to a folk bar tomorrow 




night. Do you want to come?

Hope
:    .......

Chris
: That's right. I forgot you don't 




smoke.

     
Hope
: Let me know when you are doing 




something healthy outdoors!   
A)  
Sorry, but those places are always so smoky that they give me a sore throat.
B)  
I'm afraid that's not my favourite kind of music.
C)  
Only if they have a good vegetarian menu.
D)  
Okay, but only if you promise not to smoke while we are there.
E) 
I'm afraid I can't. I'm working the night shift all this week.
48- 
Frank
: I'd like to fly to Japan the first week 




in May.

Travel Agent: I'm sorry, but there is a big 




Japanese holiday then and all flights 




are booked solid.

Frank
:.......

Travel Agent: By mid-May everything will be 




back to normal.
A)  
That sounds like fun. I love local holidays.
B)  
I didn't know that. When is the earliest time that I could go?
C)  
I don't suppose there is any chance of a cancellation, is there?
D)  
Really? What kind of a holiday is it?
E)  
That's so inconvenient. I really wish people would be more considerate.
49-50. sorularda, anlam bakımından parçaya uygun olmayan cümleyi bulunuz.

49-
(I) George Wentworth Higginson lived longer than any other general in British history — 100 years and 7 months, with a remarkable physical and intellectual vitality, (II) Higginson is often acknowledged to have lived this long life in two complete parts, (III) The first was as a career officer and Crimean War hero. (IV) The Crimean War was named for the Crimean peninsula, in what is now Ukraine, which was the main site of the war. (V) The other, beginning with his retirement at the age of 67, was as an elder statesman, companion of royalty and public servant.

A) I          B) II          C) III          D) IV          E) V

50-
(I) Sleep is essential to good health. (II) Without the proper amount of sleep, a person becomes nervous, irritable and physically fatigued. (III) Stress can cause physical fatigue as well by keeping muscles tensed. (IV) The amount of sleep required to maintain health varies among different individuals though. (V) Some need more, others less.

A) I          B)II          C) III          D)IV          E)V
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